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Exercise  
Resolution method in propositional logic.

i) Using resolution method, prove that the following arguments are valid.

a) John is at home or he went to the pub.

If he is at home then he plays a piano.

If John doesn’t play a piano, he went to the pub.

b) If daddy went shopping then he bought some bread.

If daddy is not at home then he went shopping. 

Daddy is at home or he bought some bread.

ii) Using resolution method prove these tautologies:
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iii) Using resolution method prove that the following sets of formulas do not have a model (are contradictory):
a) {p ( q, p ( r, (q ( (r, (p} 
b) {p ( q ( r, (s ( (q, t ( (r, p ( ((s ( t)}
iv) Formulate (in prose) as many as possible valid arguments using items (iii) a) and b).
